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1. H15 T 9 #i— Yk
2. H21 F1: X(XTX)XTy — X(XTX) ' XTy
3. H21 BT B(B; —51)(6; — 8)" — E(Bi — 5:)(B; — B))
4. H23X1.3: a7 AOMAHPELWY
5 H25 T4 Bg=2—FBo=1
6. H26 L217H. 417H. 617H: 8, — B; (4 &7, B — B, (2 &)
7. H26 BT (1.17) — (1.18)
8. H 26 F 1-2: B pt(x,m) — stats.t.cdf (x,m)\ [~ f(t)dt — [*_fn(t)dt
9. H297/u 77 L 154TH: plt.plot(x,stats.t.pdf (x,1)) — plt.plot(x,stats.t.pdf (x,98))

10. H31 L 11: y, = 2,8+ e ZDDH — y, = 2.0 + € DEDDTR

11. H33 T &: \/RUSS/(N—p—l)%\/

12. B36 L9 H=X(XXT)"1X > - H=XXXT)"1x7 5>

RSS

2 /(N =p—1)
13. H37ME3: 57-20HDFur'J 4 217H size=N ZHIfk
14. H 39 B 10(b): Eov” = 0?1 — EwvT = 0?1
15. H 44 F 2-4: y (2 &) — v.

16. H 44 F 11-12: R7Z2H T, BEORXEORTE2EHT — 70 KT, THEET



B2E

1. H51: VL — Vi(Bo, B) (2 fEiff). V2L — V2I(Bo, 3) (2 &)
821(5076)

0B; Bk
2. H53 T 3: REMNERKIZ - 7 X —ZHBEB KIS

3&%31(5075) 9’L
0B, oB; " 0B;Bk

3. BEARBRD IR T T ADFRHFITHS T: table_count(3,ans,pred) — table_count(2,ans,pred)s,
IEE#IX (38 4-40)/100 = 0.78 — IEZHRIX (41 + 45)/100 = 0.86

4. B 55 112 ZAABELL RVHERIZ 1 -3, ; Py = klo) = 1-P(y = klz) - ZhAEL
WIERIE 1 - Y, Ply = klo) = P(y = ki)

5. H55(7R 77 5%kDZW) F6(BAH): p1 Sty — pl Sy
6. H58 £3: 7025 4 a,bcDEIC — (HIBR)

7. B35 0T A 17T1TH: level=1 — level=0 (T X\T level=0 272 5)
8. H69 v A/ 1147H: v=np. --- — v= ## ZZHH ##

9. H59 T 6: fRD KA — D Rix/h

E3E
1. H72 2 2: cv.linear — cv_linear
2. H73 B TXy, Xo, X3 ITHA7) HIFR
3. H75 2fH D€L D 6 1TH: order=np.random.choice — index=np.random.choice
4. H753MHDELD 31TH: top_seq=list(range(0,135,10)) — top_seq=list(range(0,150,15))

5 B 76 FT45 XgeR™™P 5 XgeRxX0t) X e RWV=-m*p y X o RW-7)x(p+1)

6. H76 T 2: ijx]T = ZIJIJT + ZIJIE]T — ZzJTxJ = ZxJTx] + ZZL'JTIJ
j=1

Jj=1 Jjes JES Jjes JES

7. H 77 t 4: Sherman-Morroson-Woodbury — Sherman-Morrison-Woodbury

8. HTTTF16: f— (XTX) ' XTys — (XTX)! = B — (XTX) ' XTys+(XTX)"?

9. H78 m#IDENLD111TH, E863FEHD 1217H: H[test, test] — H[test, :]1[:, test]
10. H 784142 Tofir) HIFk
11. H79 k6: 1.6 #i — 1.7 i

12. H 80 ¥ H 88 [ 38 DtV 81TH: np.std(u) — :np.std(u,ddof=1)

s T 1 T
13. H80 Lk 1: Ay — Q)2 Ar — = 012
hgl{ozh ar: — ;{ah . ;a]}



14.

15.

16.

17.

10.

11.

N 2 N
H 81 k 5-7 B XU 38: N{Z%} %Zb{le}
i—1

i=1

Vg R )

HS8l ur7a% HS) vl I AORHIDENL: var(X), var(Y) — var(X, ddof=1),
var (Y, ddof=1)

H 83 1m B — #EEIFOD
H 85 & 32: XFS (3.7) HIFR

H 85 MRE 33: Xg € RV-mxp y X¢ e ROPHD X ¢ € R™P — Xg € RWV-7)xp+l),
Xsfs — i = Xsp

y=
. H 89 i 39: LA 5 3fEHD LD 31TH: y=datalindex,0] — y=## 294 #4#

ot

i

193 {2 Dt/ 7: np.log(S_min) — np.log(S_min/n)

\

H 94 DtV 7: p-1)/(TSS* — k-1)/(TSS/
H 94 HfDt)L 11: set_q — set_max
H 94 2D+t 5,6 (2 f&FT): np.log(S) — np.log(S/n)
1 1
H H 104 b ey — 2B Nz B) =
5 T 1, BI04 L5 fula.B) = T el =gzl = o8I} = flules )
1 1 ,
or N y-Xxp* | o ly — X8
H ALY by = WP R lly — XBI°
9 £.9, & 40 b do? 202 2(02)2 ~ 902 202 2(02)2

N

1 1
H 97 ] 4T: vzzf;Z yi—3iB) = Vi=— > o] (yi— i) v21_022x ;=

i=1

N
1 1
EXTX—>V2l:——QZ lTxl:——XTX E[VI] ZxTE i — i) =0 —

BV = — S al By —2:6) = 0. B(V1)’) = B[(VD)(V)"]

CEH 98 (47) X, H 101 F6, H 102 E5, EH 105 F7 3 EA): (v — /)XTX(y — 8) —
(

— B XTX(y-B)

. P98 T 6 [gf(z)de=0= [gg(z)de=0— [, f(z)dz>0= [qg(x)dz>0

Egng f(zz|x17ﬁ),7f(ZN|$N7B) — f(zl‘xlvﬂ)a'"7f(ZN"rN75)



12. B 103 F 4, H 106 8 45(f): E[log(

13. H 104 R 40 &/ — &R
N , 1 N , 1
14. H 106 R 44(d): 5 log(2mo’e) + §(k +1) — 5 log(2roje) + §(k +1)

15. H 106 fH& 45(b): E(%) 1 E(g) _ 2

m m m

16. H 102 T 11: Al [7 &Kk

EBHE
1 H112 M 5.1 0% v 7 a v il 49 OETH] — F 48 DFEITH
2. H14 F7: £9, (5.3) D21 — (5.1) D 2H
3. H116 E 1: 2054, (5.5) OBRIIBZL KRV, Z2Z T, — ZIZTE, (5.5)IXBWVT
4. H116 b5, B#52: Y0 22 =1 LYV 22, =1
5. H118 1 2: g; = Bv;fci,l + le’i,z — ;= Bll'i,l + Bzmz‘,z
6. H 120 1 1,3F 4: cv.glmnet — LassoCV
7. H122 F2 bk HIBR
. H 128 RO HIFR

8

H 114 758, H115 £2: n— N.

n . N .

1 1 =k 1 1 =k
*in,jxi,k: , ] %*Zl’i,ﬂi,k: ’ j
n; 0, j#k N 0, j#k

N
0€—% iy mij(riy —xijBi) = 06 —% Yo, ij(riy — xi;65)

B6E

1+e, 2m —1 < |z| < 2m
—1+e¢, 2m -2 <|z| <2m —1
—1+e, 2m — 1< |z| < 2m
—y=
1+e, 2m —2 < |z| <2m—1

m=1,2

5 g Ly

1. ElQ9T5(6.1)y:{

=12

g Ly

2. H132 14,711,12: WEHFN 2 Bi, Br+a — Bo, -+, Bros

B1 + Baw + PBax® + By, a <z <o
B1 + Box + Bsa? 4 Bax® + Bs(x — n)?, a1 <z <an
Bi + Pox + Bax? + Par® + Bs(x — 1) + Be(z — 2)?, as <z <ag

B1 + Box + Bax? + Bax® + Bs(x — ay)?
+B6(r — ) + - + Brra(r — ax)?, ok <o < agqr




10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

Bo + Bix + Box? + B3a®, op <z <
Bo + Bra + Bor? + Baa® + Bu(x — ay)?, o
Bo + Brx + Box? + Bsa® 4+ Ba(x — 1) + Bs(z — a2)?, az <z <ag

IN

r < o

Bo + Bix + Box? + B3 + Bi(x — ay)?
+ﬁ5(x_a2)3+"'+BK+3(Z’—C¥K)3, aKSJ;SaK-f-l

. H132 F 10: x§—>7‘?\,

. H 135 I 55: day(x) — da(x) — da(x) — ds3(z), x1, 22,73, T4 — 01, 00,03, 04
. H 138 k 14: A/ {9" (@)Y dz — X [Z_{f"(z)}dx

. H 139 &#D+/L 2: range(2,n-1) — range(2,n)

H 140 Python w25 24 13 17H, [ 64: [40, 400, 1000] — [1, 30, 80]

. H 141 F 5, [ 65:

H[N = XT(XTX + \G)~1X — H[\ = X(XTX + \G)~1X7

. H 141 &)L 12, H 158 M 65 £V 12: Hltest,test] — H[test,:]1[:,test]

Kx(x1,51) Ka(z1,92) Ka(z1,y3) Kx(w1,21) Kx(w,22) Ki(w1,23)
H143 k1 | Ky(v2,y1) Ki(z2,92) Ka(w2,y3) | = | Ka(w2,21) Ki(22,22) Ki(22,73)
Ky(xzs,y1) Kx(zs,y2) Ka(zs,ys) Ky(xz3,21) Ki(xz,22) Ki(xs,x3)

H 143 #i 60: ERIME — EEMEME

H145 b5 &Rz eR >z e RP

B 145 F 5: (6.6) — (6.7)

H 145 &)V 28-37, H 160 &L 28-37: 4 ¥ AN

H 146 2 HFHD LV 31TH, H 148 T26 2 HFH Dt/ 417H: randn(1) — randn(n)
H 147 B 62: hy(x), ho(z), h3(x) — hs(x), ha(z), hs(x)

H 147 TDEIL: def poly(x,y,z=x) ZLLTD 3 {TICEH

def poly(x,y,z=None):

if z is None:

z=x
k+1 k+1

H 149 T 8: Z Bi(z — aj_2)® — Z Bi(z —aj_2)3
§=3 j=3

H 151 il 22 DFEHH: RAIDIET — 55 2 THIE, 55 2 THIZ — RAIDIEZ
H 159 [H# 66: Narayama-Watson — Nadaraya-Watson

H 160 F&E 67: y; — beta(z)T[1, 2] — yi — [1, z)beta(z)



BTE
1. H165 F6: ziq... = x1,...
2. H166 I 5: 518 — £%
3. HITIKITS ¥ 7> ary T2 1205612 51525615
4. H174 3F%BD YL 747H: £frlil*(n-fr[il) — frlil/n*(n-fr[il)
5. H175 K 7.7: HROKXD 217 3%1H 49 — 1
6. H177 T 11: fi(z),..., f(x) = fi(a),..., fs(z)
7. B181 k6. £9: ry =ry — fe(zy) = v =y — Mfp(en)

8. H 185 &k tL T2, H 193 HEDtL: 91THA S 11 {THZHIBRL T, 12 5H DR
ZLLTD XS5 IEBIET %, plt.plot(u,v, — plt.plot(nn_seq, out_set[d-1],

9. H 188 MfE 71: T AN — HD

E8E
1. H196 F7: BTz, — x5
2. E 196 F 6, B 213 [ 75: (8o, 8) € R? x R — (5o, 3) € R x RP
3. H198 F2:a=-1/V2&D wa=1/V/2 kD
4. H199 T 9x =29 CRIZBWVWT = 2 =129 CRPITBWVT
5. H199 T 7 (8—5%) < fo(B) = (B—5") = fo(B)
6. H 200 (8.18): Ef\il YT — Zf\il ayirl

7. H2023FHDEIL, 206 HOELD 181TH-211TH, : index=(eps<alphal:,0])&(alphal:,0]<C-eps)
D—ATITEH

8. H 205 T 2: sum(X[,i1*X[,j]) — np.dot (X[i,:],X[j,:1)

9. H208 -3, M85 ¥+ F>ay, H210 13 H28 /86 T HLI—FL —» FI7)L
H— IV

10. H211 F1, H212 2, 4: ¢ — ¢
11. E 213 ﬁ:ﬁ%ﬁ 75: BO —+ Ii,B <0 — ?/i(ﬂ() + T,ﬁ) <0

12. H 217 [78 83,84: K.poly — K_poly, K.linear — K_linear



EIE
1. H 225 F6: Ly /b — L2 LA
2. H 230 X1 9.6: complete & centroid @ X231
3. H232 7 ¢ eRYN o e RN ... 0, RN — ¢y €RP, ¢ €RP,... ¢, €RP
4. H 232 T 10-11: ¢; — ¢ (2 &)
5. H233 F14: a9 XD - am@ 8 kD
6. E 233 @D pca Dt D 51T7H: Sigma=X.TOX — Sigma=X.TOX/n

7. H236 DBEEE_1, f_2 2fHAHDELD), H246 [ 96: £_1 25y = T[0, 1] / T[O, 0] * x
f2Ay = T[1, 1] / T[1, 0] * x

8. H 236 D5 HIHDENLD 71TH, H 246 [ 96: plt.axis("equal") —
plt.gca() .set_aspect("equal", adjustable="box")

9. H239 T 2: HIWBEEL — HIVZR
10. H 244 [ 91 317H: single_complete — dist_single

11. B 247 5199 T2 5 2 fEH DL evr=pca... — evr= # ZZfi] #



